Part Number 203602

Issue 1

1500 Series N

i506mM ¢ 3

G

7 B

shaft use with shafts 1 & 2 only

No outboard bearing

Model Design Shaflt Adapter Housing Cover Rotation
(GPM / 2000 RPIV)
MODEL 3. 5/8" Dia. Long Key, 3/16” D. SAE “A” 2 Bolt with 3/4” 3 Straight Threads 7/8” 15612
1500M Sq. Key 1-1/4" long, 2.00 shaft, use with #4 shaft only and 1515 only
GPNM/2000 rpm ext., use with adapters B, E. SAE “A” 2 Bolt 5/8” shaft 4. Straight Threads 1-1/167,
[0e-o7sscrrzi0en] E & Gonly with outboard bearing, use 1515 only
10 - 1.180 cir (19.84 air) 4. 3/4 Dia. keyed, 3/16° Sq. with shatfts 3 and 5 only COVERS
12 - 1.467 cir (24.19 cir) Key 1-5/8” long, 2.50 ext., F. SAE “A” 2 Bolt with out A. No Ports (Do not use with
15 - 1.771 cir (29.02 cir) use with adapter D only board bearing 3/4” shaft, #1 Housing)
DESIGN 5. 5/8” Dia. threaded with use with #6 shait only |B. 3/4” ANPT both ports (rear)
A-  No outboard bearing Woodruff Key 1.78" ext., G. Foot mount, 5/8” shaft with T. 7/8 Straight Thread both
WW use with adapter E only outboard bearing, use with ports (rear)

bearing 6. 3/4" Dia. keyed, 3/16" Sq. #3 shaft only D. 1-1/16” Straight Thread
SHAFTS Key 1-5/8” long, 2.28 ext., H. Foot mount, 3/4” shaft with both ports (rear)
1. SAE “A” spline 5/8" Dia., use with adapters F & H only outboard bearing, use with E. 7/8" Straight Thread both

1.03 ext., use with ADAPTERS #6 shaft only ports (side)

adapters A & C only A. 6 Bolt round, use with HOUSINGS F.  1/2” ANPT both ports (side)
2. 5/8" Dia. Short Key, 3/16 shafts 1 and 2 only 1. No Ports (Do not Use with G. 3/4” ANPT both ports (side)

sq. key 7/8" long, 1.03 ext., No outboard bearing Cover A)

use with adapters A& Conly B. 6 Bolt round with outboard 2. ANPT Pipe 1512 (1/27) ROTATION

bearing, use with #3 shafts only only 1515 (3/4”) only B. Bi-rotational
C. SAE “A” 2 Bolt with 5/8”




